101. &Gy Qar@ésiulHerer Hlapifaenear srasurflurs apapuuBsss |
St 2 CLmoer gmaSwit, srem e mag Gomidr pamy ansOunilug.
L unissCerdiu Lwe, apsaapgans gGldfsarellen GeaGany apenan Clssm SlgsbLse.
Il seeaGam en_u Gurfla elgusars Currs Speslyhog.
IV.  aunevGam_smor, wpaeagpsaors @bdurelda saaflaCanamcmu absam_bos).
(A LIL I IV B) LI, IV III
(C) LIV, IILII (Dy IL LIILIV

Arrange in chronological order :

L. Automan turks captured constantinoble

IT. Farthalomia-Diaz reached Southern tip of Africa

Il Vijayanagar Empire were defeated at Talaikotai war

1IV. Vaskoda-Gama reached Calicut at first time through sea route
@A) LI IO0 IV w1 v, 0

(C) 1,1V, 11, 11 Oy 1L 1 IIL TV

102. Aéneumevemaunmer erg eflwirs Qummbgidns;?

(a) @yeburTs 1. ogmgm&res prom

(b) @eaflw_gren 2. wanun&g,& Qrdl Quwissd
(€) ug®aydl aGasril 3. Ll aymproT

(d) g urd 4. &L BmoT

A @ B b

<€ © D) )

Which of the following is correctly matched?
(a) Abul Fazal 1.  Shah Jahan Nama

(b) Inavat Xhan 2 Translation of Mahabharatha
(¢} Abdul Hamid Lahorie 3. Padshanama

(d) Abul Falzi 4, Akbarnama

(A) (a) (B)

N (© D) (d)

SFET2 28



103. @nHwreliey grurss smasuisaner suflarsLLESgs.

104.

I
I1.
I11.
v,
(A)
()

LTI TG & (e Gy e

L&A ggmir’r o Gean

LagsL i grCemir Srens

a9 &fl. £
I 11, ITL, TV
1, I IL TV

(B) III, IV, 1 11
(Dy HIIL LIV

Arrange the President of India in sequential order.

L
I1.
ITI.
V.
A

Dr. Radhakrishnan
Dr. Jakhir Hussain
Dr. Rajendra Prasad
V.V. Girl

I 10000, IV

I, L II, IV

Quimpssg)s

(a)
(b}
(c)
(d)

(A)
(B)
()
(D)

Dr. ainCGugair
Guymdlgmey Lo
BITILERT (T

= Qeu.gm. Gufwrr

(a) (b (e)

— b B
W b o= e
[ R

Match the following :

(a)
(b}
©
(d)

(A)
(B)
(®)

Dr. Ambedkar
Jyotirao Phule
Narayana Guru
E.V.R. Periyar

(b) (c)

r-*l—-.l:.l\'."n;\
L

[P o N ST RN
i

(d)

Qo W

[

(d)

B Q0 02 O

By III, IV, i 11
(Dy IIL 1L 1,1V

uélegd i el smfaf) eoL
FLOMILTENS QIWI&&ED

srorwen wiflunoer Gursih

e

s5W Gengas sormh

Bahishkrit Hitkarini Sabha
Self Respect Movement

Narayana Paripalana Yogam
Satya Sadhak Samaj

Ll
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105. efiemauu(Bsd Qurmpswrenens CembLs(Es TpsIs.

Caugsragnse Gng grl wen Epssan_ waplae awflasuuBssiuBing.

I.
111

(A)

naiFfsel
FSAIMwITEHET

v, I 11, 111

G T IIL L IV

Arrange in sequential oxder :

II. Aenwemriasr
IV. @sdlorser
By I, 1,1V II

M OL I, L1V

The caste system is generally read in post-vedhic period as

I.
11T,
(A)

©

- Vysyas

Satriyvas
IV, 1, I1, TII

IL 1L T, IV

II. Brahmanas
IV. Sudras.
@ 111V, I

(Dy TIIL I, 1, IV

106. Spasas_eondle erg silurs Qummbsdng?

(A)

(B)

()

@)

unssaisEs 5@

Crrg s Caiga

wenppas Cargen

Caigelld Curiii_g sEd —

16 suwig

Gussetlan Sl flamens Qaram® o yudemsmen
CsipApdaeh e |

Gaqwéaa Grrguns ghsar Gy Saman CarslisHunug

25 suwgy Slybhweu et

Which one of the following 1s correctly matched?

(A)
B)
©

SFT2

Right to vote
Direct Election
Indirect Election

Contesting in the election

Age of 16

Members are elected by the representatives of the people
People elect their representatives directly

Completed age of 25.

30



107. s euflansLI(BEgs :

I 23-1b venL9fellen @rramieu farflurer sreme W Carev peflai@iy mwgrasda &G
PSS LI LT

11, 18086, geeney 10-1b B, (psed whmid 23-1b e bfieneus Caibg @bdw AULTLsE SOESMS
Qarhmyeilggent.

- L sihsssrs Qarvacul Brrac idlarfl Comi pbevgmi e

IV, atendy urenGanil erenmb Gyramicn Siflert QssredgédE (s usllurmeir.

& LILILIV ®) UL 1L IV, 1

(C) I, 1V, LI (D) IV, LIL I

Arrange in chronological order :

1. Col. Me Kerras of the 23 ¢ Regiment was shutdown on the parade ground.
11, July 10, 1806, Ist and 23" Regiments started the revolt.

III. Major Armstrong was the next officer killed during the mutiny.

IV. Col Fan Court whe commanded the garrison was their first victim.

Ay LI IL IV (By III II, 1V, 1
S 1,1V, 1, 11 (D) TV, 1,71, 11

108. 4.9, 1893-& Qeum e wHm Heurgd LTy masaT QeraLr(ieuget apn GCsdluw 2 aienel
SGRTIG GO,

Sipsaemcunmen Calw o ewTaney HNeiy T Wiri?
(A)  Garuradmeges Carsln (B) unewsmsngr Hosi
(C)  wrewnwgud gmi (D)  srgmumi peuGyra)

In 1893 he started using the Traditional religicus Ganapathi festival and Shivaji festival to
propagate and stimulate nationalism. '

Who among the following revived the nationalism?

(A) Gopalakrishna Gokhale B’ Balgangadhar Tilak
(C) Lalalajpat Rai (D) Dadabhai Naaoroji
B 31 . SFT2
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109, ulgwa-I 8 ulnwe II ei e GQurmsd ulywda &p Gar@asuul(erer @HluiHaemar
pLwenumsd siura efleptemu CaTHbEsEH :

Ul g uien L gy 1T
()  SUuGesdwen erflwéensy
(b) SeflwanenCGrr Syl

() BANG
(d) GundieSwur

LOtg LIL| DGO G

L

GQeusTers soCisua]

(a) (b) () (d)

(A) 3 1 4 2
(B) 3 4 1 2
(C) 2 3 4 1
(D} 4 2 3 1

Match List I with List Il and select the correct answer using the code given below the list.
List I List II

(@ Appalachian 1. Voleanic Mountain
{by Kilimanjaro 2. DPlateau

() Mississippi 3.  Fold Meuntain

(d) Bolivia 4.  Flood Plain.

L@ © @
wA) :

3 1 4 2
(B) 3 4 1 2
(C) 2 3 4 1
(D) 4 2 3 1

110. sfiwrer surigenganw (ellenenw) CorHQ50.
yelluiler 2 6t Hé@saied @by Baauild o.dver [
(A) CuwGar® (B) seusd
(C) eeaamub (D) Geualidagmeub

Choose the correct; answer :
The Earth inner layer which is in Molten stage.
(A) The Crust (B) . The Mantle
{C) The Inner core \{,13}) The Quter core
SFT2 32 B



111, Qurmgss

112

{a)
(b)
(<)
(d)

(A)
(B)
(&
W)

B (R&eT
Sawfés gefu prHser
S yresen
Glemflwm
EREEHTIT
(a) (b (c)
4 2 1
2 1 4
1 4 2
3 1 4

Match the following :

(a)
(b)
(c)
(d)

(A)
(B
(€
(D)

Country

US.A.

France

Korea

China

(a) (b) (c)

4 2 1
2 1 4
1 4 2
3 1 4

(d)

b G Lo

(d)

B W W W

QewifensGErersen
1. GLIITL_
4. TR & 0T

UITGITL_ &ITL

AT (i

Satellites
1. Spot
Yaogan

Landsat

B~ Wb

Kitsat

Buwpaaudedmng CrRaLwrs aertisemar QUMb Qgryea

(A)
(©

apgenann Hlanars Clgmisle

apenmid Slenavg Ggmifla

(B) Quew_mb e Ggmfia
(D)  pransmd Hevag Qg

The activity that obtains its resources directly from the nature

Jﬁj" Primary Industries

(©)

Tertiary Industries

(B) Secondary Industries
(D) Quaternary Industries

a3

SFT?2
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113. Epsseam eursdwmisener e ©

da iy (A) D eudlGrallwrellds @ulldancvenmhg), Hlu, QeariCaden, sflaCurflur ugdseaia
<y te Flulfle dlemmm s sranruuddlens as

sngawrd (R) 1 Bagsy B Geaflagn Br Qardarurepseda @uu@gdaation smaiiuPdeammen

Baupen,

(A) (A wop B) QrerBw afl. Gugnd (R) srerug (A)elin g sflwirer eflarésin.
(B) (A whpmd (R) @rean{mn sfl. GCugubd (R) earug (A)efin g sfhurar eflatéswda.
(C) (A &l panrad (R) seumy

(D) (A seum ganner (R) &l

Consider the following statements :

Assertion (A) : Artesian springs are found in Australia, in the provinces of Queensland,
New South Wales and Victoria

Reason (R) : Water bearing porus rocks are abundant in these regions

No“{ select your answer according to the coding scheme given below.

w’ Both (A) and (R) are true, and (R) is the correct explanation of (A)

(B} Both (A) and (R) are true, and (R) is not the correct explanation of (A)
(Cy  (A)is true but (R) is false

(D) (A)is false but (R) is true

114, uiguwed T @ uigua 1T oca Qurmsd Cp QenGssiol Qéarer @lulGsmers Qerar( sflwumear

allaLanuss Caurbls .

uCgudd [ Ui uaen [
() WSl B oreETys 1. erflenso
(b) HCug 2. gporar ssfl
{c) wilwurer 3. Ggr_igenm
(d) Geslen’ Qaveenr 4 Syl

@ O © @

{9.} 3 4 2 1
(B) 1 4 2 3
(© 3 2 1 4
)] 2 3 4 1

SFT2 34 p



Match List I with List IT correctly and select your answer by using the codes given below :

List | List II
(a) Mid Atlantic 1. Volcano
{b) Tibet 2. Deep trench
(© Manana 3. Range
(d} St. Helana 4. Plateau
(@ O () (d)
(A) 3 4 2 1
() 1 4 2 3
(©) 3 2 1 4
(D) p) 3 4 1
115. WTO arggenpujien Ggmmem_wigy?
(A)  LEHESHD (B) eunadfisb
C) cumé (D) sesl
WTO is related with
(A Medical l,@'ﬂ'_‘ Trade
(C) Banking (D) Education

116. ulgwe [ gulnwea Il o0 & Quimsd 6 AanPasuuHarar @iuiGamens Qaran® #flumer
cllenemug GaTbOSM.

U g used [ ugwed 1T

(a) oQlurard Tmillsns 1. Qsdveu @edsemrhd

(b L. 2. QumGeTETy B GledaeeTiD

(©) yodrd wriayed 3. euerFE GessenTid

(d) enpGeudvsen 4, Sen Lumesn Gessamd
(a) (b) (c) (d)

(A) 2 1 3 4

(B) 4 1 2 3

<) 3 2 4 1

D) 1 2 3 4

p 35 SFT2
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Match the following given in column A with column B and select the correct answer from the
codes given below :

Column A Column B
(a) Lzonel Robbins 1.  Wealth definition
(b Adam Smith 2. Welfare definition
(¢y Marshall 3. Growth definition
(d) Samuelson 4. Scarcity definition
(2) (b) (© (d)
(A) 2 1 3 4
Ny 4 1 2 3
C) 3 2 4 1
D) 1 2 3 4

117, grsgrges 5800, @QsHETE 2 (HeuTHsl Ll L g

(A) Burgd usdl @ weaneaw CobL{ES

(B) eumorer dadvan gppgsrpellanens Gannss
(C)  Symoiyw Ceumaaniilibame SiEshes

(D) Quogssiean Pmeentisetian Lk @Gelwasa Qer_iims

Ranganrajan Committee was constituted for

(&) Improvement in Public Distribution System
{B) Reducing inequality in Income and Wealth
(C) Removal of rural unemployment

J.H? Disinvestment of public sector enterprises

118, umallen oysoemm Hé @il QL ergmi e Qam_iy @owrgs eray?
(A)  Qepenwn pebd (B) 2 Menw Qumse
(O sl duyss (D)  HF Quigd eumiziiy
Gender inequality index is not related with

(A) Reproductive health (B) Empowerment
(C) Education m Access to Finance

SFT2 36 B



119. Spsmamusupile arg sflwime Qunrphd o ereng?

120.

(A) B Rere o) 1 arkdsaien ek

(B) uewmGeueflui.(h o Memw 2. unrdhu wrile eumdl

(C) Qurgiggieom surkid 3. ofodas

(D) wlguSefic i mg eumidl 4. medl

Select the correct Match :

q’oﬁﬂ RBI 1.  Banker's Bank

(B) Monopoly of note issues 2.  SRBI

(C) Public Sector Bank 3. ICICI

(I} Non Scheduled Bank 4. I0B

s auradwnisaars seua.

samm (A) o ugevnn Bfwad doy apseSioneriaati b Guin Geblinlencr Darew® Qi
Bmwisaies wpsed(h G andlng:.

snreeid (B) © upevuy Bfwsd “Am mefl Quy Qeudrand” aremm Camiuriigen SigUuemLudld
Quihiedng.

@eudmier erg) &M eren Siwonalsseyb ;

(A) (A wpmw (R) Qrenipw el

(B)  (A) bppio (R) QyarBo seumny

(Cy  (A) geumy yemmev (R) &

D) (A) el ayennad (R) soupy

Consider the following statements :

Assertion (A} : Mutual Fund collects savings from small Investors and invest then into
corporate bodies.

Reason () : Mutual Fund Works as the principle of “Small drops of water make a big

Qcean”.

Select your answer according to the coding scheme given below :

7%

(B)
(©)
()

Both (A) and (R) are correct
Both (A) and (R) are false
(A) is false but (R) is true

(A) is true but (R) is false

37 SFT2
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121. @msans Gual wimb uminogd sl Lsmee SpaarL agseme swrissluBEng?
(A) Gl Ueorras (B) Swyena-S-

(C) Qi_&rrem (DY G F

Which one of the following is used in the preparation of seat belts.and sails?
(&) Teflon (B) Buna-3
W5 Dacron D) PVC

122, sfhwrs Gummbsgs -

(2) BanGanm _sHnen 1. gib
(b) SlenpenL 2. Gamel
(©  Denenipss Gaupum@ 3. JLGUALD
(dy WDehCGanmlgdlon cmamey 4. Sl

(a) {b) () (d)

(A) 4 1 2 3
(B 3 2 1 4
(C) 1 4 3 2
(D) 4 3 1 2

Match the following .

() Current strength 1.  Ohm

(b) Resistance 2. Volt

(¢) Potential difference 3. Coulomb
{(dy Quantity of electric current 4 Ampere

| (@) (b) () (d)
) " 4 1 2 3

(B) 3 2 1 4
(C} 1 4 3 2
(D) 4 3 1 2

SFT2 38



128. smgy(A) : TAN-A faoeuiid fog smps wreflite ywumss fpag-Cupens oeasalUL

124.

Couent(hid
sryesrd (R) sl snhssblen mEFsECamigen eflumen  a&Mhglilel Uelssss yasdne

Qatgssns B mas Couem B

(A)  (A) upoo (R) 6@ wpgid R) <pengs (A) e9p@ sflwnar edensgsid

B (A) g (R) s wdps () wpens) (A) ol sfiurer cearéstd e

(C)  (A) afl gy (R) seumy

D) (A) soum aenmed (R) &

Assertion {A) : In TAN-A position the arms of deflection magnetometer are placed along

East-West direction.
Reason (R) . The magnetic field along the axial line of a bar magnet is perpendicular to

the horizontal component of earth's magnetic field

Now select your answer according to the coding scheme given below :

wr

Both (A) and (R) correct and (R) is the correct explanation of (\\)

(B) Both (A) and (R) are true, and (R) 15 not the cerrect explanation of (A)

(C)  (A) is true but (R) is false

(D) (A) is false but (R) is true

gilwren cleneow CaipOs (.

wesafheE Brés (psswreg) fpanareny el sredlid 2ifle b gllaeta,

(A)  apemersEn MHSLSHDED 2 amer Hgnenaae el snallnEd QsusHnen 2 aer Uanamaey
ALt

(B) apmerenws Crras sralln@L @mawsdnEn GaLGu o aer Ugramaey @amnay

(C)  arene &S gpenatdEn Gmswsdh@n G Cu o drar Dgremawey endsib

(D) Ggrensveney STTHESUO /2 LITHDS FTAHES0W

(Choose correct answer.

Blood pressure in human is greater at feet than at the brain because

@

(B)
(€
(D

The distance between feet and the heart 1s large than between heart and brain

The distance between {eet and the heart is small compared to brain
The distance between brain and heart is large than feet

It doesn’t depend upon the distance/height

39 SFT2
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125.

126.

emeufler  wrg  emorewd gy 28,0000 eumew  Qewellamapn  Caflliybd  wsdle
GerRssuu_Pereng. 2 ewelnEh Gelllifngd o drar slidlgo.

7%
Glmaps CUNSE

(A) 33.1% (By 33.7%
€y 33.2% (D) 33.3%

A man carns Rs. 28,000 as monthly salary. His expenditure and savings are given in the
diagram. The percentage of savings compared to food .

7%
Entertainment
(A)  33.1% (B) 33.7%
(C) 33.2% (. 33.3%
@5 Dcopllen gavgan CurReugperan 18587 TamesfiGens” @ ST FRMES SHEET eramant] Gen s

2
Fretns. Hevpuilen ber siswmigeT 9 15 x 6%- B

(A) 1240 (B) 1400
(Cy 1440 (D} 1660

The Minimum no. of square size tiles to fill the floor of a room measuring 9 m x 6% m, is
' 3]

(A) 1240 (B) 1400
W7 1440 (D} 1660

SFT2 40 B



127.

129,

‘gansed’ aped HepLssl Gupieug)
(A)  madp wrend (B)  ggref sfassn

(C) QamlLg senamw (D) ol@ney

Ogive can be used to obtain
-
J#&)  percentiles (B) mean deviation

(C) skewness (D) correlation

. QerRas i [HeTer pen sTerTsaficn 2-ug) aramanitang) (psed erammantldy UTEl. ppanmreus) e (pGa

eraranants GLIME apsimy Lo g, deuGeusimaetien ayisf 27 erafler, sieusufasuiey Bassfidlu ererr
a4y 10 B 9
{C) 8 (DY 18

Of the three numbers, the second is half of the first and the third is three times the first. If the

average of the three numbers i1s 27. The smallest number s

(A) 10 w9
{C) 8 M) 18

wragreurgar Qubp wHUuarseflan oo Lyeualen ppermy srawmanagar 20, 40 whmid 50

(ELD. SN clevass e

(A) @)

(&) (D) 15

S

The three quartiles of a frequency distribution of marks obtained by male students are 20, 40

and 50. The coefficient of quartile deviation is -

1 1
(A) 3 B) —
~ 3
] — D)y 15
W - )
41 SFT2
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130. Spaadhr_ mpsiaemer arawsdlen ug aflasliuBsgs.
L Seucvspsaumoes
1.  sord prébweuroe
11, efsmuinerws Campen
IV. @semd ugnissen
@A) IL L IV, I By I 1L, IV, III
(C) IL I IV, I M) I Iv, 11,1

Following kings arrange in chronological order

I. Sivashkanda Varman

II. I Narasimhavarman

ITT. Vijivalaya Cholan

IV. 1Iparandagan

(A) IL L, IV, 11 u’f;.l [ II IV, 11
(Cy IL I, TV, 1 Oy L1V, IIL 1

131. seurflggallen Guirgy QeualliuGb Do ahs eugeugdle Callsauhfpg ?

(A) ADP (B) ATP
(C) NADP (D) APP
During respiration, energy is released. It is stored in the form of
(A) ADP \B) ATP
(C) NADP (D) APP

132, wrhisailen 2 mdiswE snyeworen Sasaer

(A)  enseD, oo yEermw (B) esab, svdeaflgenenaom

(C)  unmreensm, cufefireiensnm D)  SyGarmwib, LnyetengnT

The strength of trees are due to the presence of

-
(A) xylem, phloem W) xylem, sclerenchyma
(C) parenchyma, sclerenchyma (D) phloem, parenchyma

SFT2 42



133.

134.

135.

6Tha euens wILg HdupHCorr I-—aumorer HOILE 3-GL e wnat aurflasams o (Heunss (plgu|ib?

(A) Tt oo tt (B) TT wpmpb Tt

(Cy Tt wpmbd Tt (D)  tt opmb tt

Show the genotypes of parents that produce offspring in the ratio of 3-tall animals to 3-dwarf
animals.

(A) Ttandttin 3:3 ratio lfﬁ}; TT and Tt in 3 : 3 ratio
() TtandTtin 3: 3 ratio (D) ttandttin 3 - 3 ratio

@Qeunile silurareuneny CarbblsHaseb.

I o.ufleniumen cuenmn Cungy Qed QuEmEBLL APy el L méev

I urelenuQuipés penpullar epolLrélew womh wGurlay LELLsH 2 amH
I umelleor Qugnés apepputled enwGundley LglL 2 6w ([ |

V. eloisgss urdor GaiGLmss &ram L@ g

@ Twbgo LI B) 1 whys [V

(© T oo 111 D) LoppolV

Identify the correct statements among the following :

1. The growth of an organism is done by Mitosis.

[I.  In sexual reproduction of an organism both Mitosis and Meiesis are seen.
[TT. In asexual reproduction of an organism Meiosis is observed

IV. In animals asexual reproduction is seen.

W Tandil (B) Iland IV

(C) IlandIIL (D) landIV

Epsaaim smpmseie ergy, #Mwrs Qunmbdudrens?

(A) CunrEsse werat - DHETD gTTsn
(B) Cunirésdfu wrgyd - QFmanbLich
C) QGunirss&dlu yEsnT - Grrui Hepere
(D) Currésdidiu curaflu sencanwudlib - Ganeur
43 . SFT2
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Which one of the following is correctly matched?

(A) King of Partuguese - George-V
(B) Navigator of Portugal - Columbus
(C) Governor of Portugal - Robert Clive
&)ﬂf Headquarters of Portuguese - Goa

136. &pssaL cursdwrisemen seuaf :

[. wésarmddigienw 2 arenowines a5geub, Hg6n 8 e Nepwenw LETHE Qeraeudea smen

L GTeng).
I =i saps eugliysaflon, Gu apyamun{Biser rpuLmoe @nés 2 seu8ng.
L Aevewss oirflued seremwenw 2 mFILE LSS o euflsn iy wrs Gnsdng.
&G @HLAL Rerer M Sy e sflunen eflenmws Camposd
&) Tol@poed (B) I wipmw Il grasr@o oM

(©) L I wpmw 11T ppenmn s @) LI oogw I aparpd seum

Consider the following statements :

I.  Power sharing is very spirit of democracy.
1. It helps to reduce the possibility of conflict between social groups.”

IT11. It is a good way to ensure the stability of political order.
Now select your answer according to the coding scheme given below :
(A) I alone is correct () Iandll are correct

\9;21’-{ I, Il and IIT are correct (D) I, Il and 11 are wrong

SFT2 44 B




137. vliwe [ guigwd Il e e Qurmsd. £Gp Qarpastul e @PluiGsmensd Qerar( sflurer
sllent_enwig Carhlg(.

L guich 1 ‘ U g wed IT

(@ widu s L Ao

(b) wrhlend 2. 2argr_§ Henaeum
() worpaErm 4 3. YERRT

(d Ao ugreTwss 4. G

() (b) (c) (d)

@ 4 1 2 3
® 2 3 4 1
g 3 4 2
(D) 3 4 1 2

Match List I with List Il and select the correct answer using the codes given below the lists.

List T List II
(a) Unien of India 1. Prime Minister
(by State 2. Panchayat President
(¢) Municipal Corporation 3.  Governor
(d) Gram Panchayat 4.  Mayor

(a) (b) () (d)

(A) 4 1 2 3
(B) 2 3 4 1
(C) 1 3 4 2
(D) 3 4 1 2

138. apg Coraagang BLa v 20066 eupsssgse Sl wapuilss Quisssmg CHUTETD LINTESH?
(A apywrlél g (BY  wasmern_A
(C)  wrGamdsn D) Cupsar_cupdle ergayb Bwme

Nepal witnessed an extraordinary popular movement in April 2006 which aimed at restoring

{A) Monarchy .ﬁﬁ’ Democracy
(C) Maoism (D) None of the above
B 45 SFT2
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139. denaumeuameummesin WM h5ES.

B WEREUHD STreD

(a) Sggananaurse 1. euamelleiig gramrmedth
(b) urupred 2, auyarpp Flenanedl b
(©) godf 3. Breipad
d)  @par_pmiop 4. wealiyGCesn

(a) (b) {c) (d)
(A) 2 3 4 1
(B) 1 2 3 4
(<) 3 2 1 4
@ 4 3 2 1
Match the following :

Place Famous for
(a) Chithannavasal 1. Wildlife Sanctuary
{b) Papanasam 2. Historical movement
() Yelagin 3. Waterfalls
(d) Mundanthurai 4.  Hill resort

() (b) (c) (d)

K 2 3 4 1
® 1 2 3 4
(&) 3 2 1 4
(D) 4 3 2 1

140, Qan@Bssti Hever sifledud sifl@sisgner @flumen Candraer gon sopfdTper eram HHSHenan

eller&dl apsed il Es
(A) 588G sellali (B) J. Qaliarm.
(G Lmeols (D) e&fges Byl en

Of the following scientist, the first one to explain the concept — Why the planets are moving
around the sun?

(A) Galileo Galieli (B) J.Kepler
(C) Ptolemy ,&D‘D Sir [ssac Newton
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141.

142.

143.

144

siluna eflenenw CoTHEASH.

Qecueumd Fipsb Heuluns GImEss STTeRTLD

(A) wamedld mfs serey RODY s o 6rerg
(B) wawenfld @rmoL Qe

(C)  @ig dsebd QerlLiwnarg)

(D)  sefloerr sobgeTerg

Pick out the correct answer.
Maxs is red because

3! soil contains ircn oxide (B) sotl does not contain iron
(C) its very hot (D) it contamns clay

e Ut Carlienu aTHaL-en QBT TLen_wig?
(A)  Cuevuma (B)  sméd ubg
(C)  umliBeni.en (D) HNsQs

Uber cup is associated with
(A) Baseball (B) Foothall
) Badminton (D) Cricket

EpEaaTLeuDOIeT USREUDD Braeveureleuner wimi?
(A)  urupran Seue (B) (gerans@y eneussumrgen
(C)  Smeun@gany grgrsdann Hearenar (D)  asf Carume Brg

Who was the popular Nathaswara Vidwan among the following?
(A) Papanasa Sivan (B) Kunnakudi Vaidyanathan

7" Thiruvadudurai RajaRathinam Pillai (D) Kathri Gopalnath

DTE LU, GruTss smaeuhée cuptidlyarer wanalliuds@n siflsryoreng

(4) sloflupgib sidisTmb (B) Qswagiesn sasryn
(C) Bhsgieop aifsryn D) oustsreo sifsTon
The pardoning power of the President vested by the constitution is
g |
(A) Legislative power -E'Es Executive power
(C) dJudicial power (D) Emergency power
47 S¥FT2
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145. sfluras QurEbgieuams CamHEsHSE 6T(WHEIs :

(a)
4:)
(¢)
(d)

(A)
B
(C)
(D)

srewmT eufl
Lsmadl eurfl
g eu il

sl wirumy eufl

(a) (b)
4 3
3 1
1 3
2 1

()

2
4
2
3

(d)

[~ S T

Match it and choose the correct pair.

(a)

(b)
(c)
(d)

®)
©
)

Haranya Tax

Bali Tax
Kara Tax
Trade Tax

(a) (b)

4
3
1
2

o .

146. QummsEs -

(a)
(b)
(c)
(d)

@)
)
©

(D)

SFT2

Guriéss&du curaniiu Gemb

L &8 GUImenilL SerLD

(c)

S N

Creflwi euranflu gemd

GOy Ess euresflu semd

(a) (b)

1
3
2
1

R R ]

(c)

o e N O

(d)

R

(d)

B = b

oW N

48

L

3 LR ellona
LpH&BET Gﬁl,rj)ur‘a‘ﬂ@‘l
IDGLD FT1HE eurf)

urgar cuil

3 of the prices
Sale of flowers
Religtous tax

Irrigation tax

Gameaun
SIrGDLING
uGeubar®

e UL g GaTID



147.

148.

Match the following :

(a) Portuguese settlement 1. Goa

(b} Dutch settlement 2.  Tranquebar

(¢) Danes settlement 3.  Pulicat

(&) French Factory 4.  Masulipattinam

() (b) (c) (d)

(A) 2 1 3 4
(B) 1 3 2 4
(€) 3 2 4 1
(D) 4 1 3 2

Berenmi &THTLS @lans Ggrsmbliu smanbd
(A)  Cepit sman (B} Campi sraub

(C)  unerguwim srevtb (D) semnQyr sneoid

Origin of Karnatic music is during the period of

(A) Chera Period W87 7 Chola Period

(C) Pandiya Period (D) Kalabra Period

s oy (A) L anguuT waseT UGS GsuGLmMbwreysE ghHnws Qeugend
seuend (R) 1 amplum wéser wpsenapgades LpsH LudLen’

A) A wipw (R) sflurerae (B) (A)sfl wamd (R) gaug

(G (&) seumy (R) &l D) A vwigw R) geupreana

Assertion (A) : Harappans exported raw cotton to Mesopotomia.

Reason (R) : Harappans were the first to grow cotton
{A) (A) and (R) are true (B) (A) True (R) false
W (A) false (R) true (D) (A) and (R) are false
49 SFT2
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149. Spssan_cunble ergl &7
I srafii Soyeller Qurgiliuetl urLg &' Uy sumsl uanl_ elprser @ndwredler wi G Curfe

L Geuerr (i,

II.  amefia Qoueller Qurgpiuesf Leld sl Ly kgl etrsar Qpdlunalgn Gsene

LI B sl HE Curfléy mELL Cauapr(bib.
(A) I oido el (B) II wi (b &l

(G I, IT-wef (D) I-b Qeavane, - Glevana

Consider the following statements : Which of the following is/are correct?

1. Lord Canning's General Services [inlistment Act ordering all recruits of the Bengal army

to be ready for service in India only.

II. Lord Canning's General Services Enlistment Act ordering all recruits of the Bengal army
to be ready for service both in India and cutside India and even overseas.

(A) lonly (BY Il only

€ BothIand I (D) Neither I nor Il

150. &psaan_ aunsdunissner seue.
L padeesuCGuriie gimadulidr CoraalCn Harug Mwss 1psélu STy@ETNEG.LD.

II.  GR e gimmadlepw 5LsEw g0 @BHw pevdibsaner UamuBhsgeusts Q) (EHss.

Eeupiler eTg/ eTaney &7
@& 1o Go (B) 1 @b
©  1wpgo I D) T-ib Grivane, T—ib Gvenay

Consider the following statement :

1. The Chief cause of the Khilafat movement was the defeat of Turkey in I** World War.
1I.  The Muslims in India were upset over the British attitude against Turkey.

Which statement isfa.re correct?

(A) Tonly (B) Ilonly
& Tand 1l (D) Neither I nor 11
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151. dpssan. smpmsefid ag eflurs durmsailovame?

152.

I
II.
117,
V.
(A)
(©)

FMNIST FLLD -
eflFena LoD LD -
aniB -
Dr. onbCuigad -
I

1

QuaT@pheng GanpsULs Hhwan g
reeiueur FBET efGLmETaHT
apfspeh Qs o
S, F0IW sanL
B I

v

Which one of the following is incorrectly matched?

I Saratha Act —

II. Widow Remarriage -

III. Gandhi -

IV. Dr. Ambedkar -

A) 1

(© I

QUIm(H& &I

(a) &Compdrprs unanmoll

(b) B a8 ywedi Sulwr

(€) srsmuml QpenComel

(d) Qamure Hmegenr CarsCa
(a) (b) (©)

(A) 1 2 3

(B) 2 1 4

© 2 4 1

{D) 4 3 1

Match the following :

(a)
(b)
(e)
(d)

&)
(B)

(D)

Surendranath Banerjee
G. Subramanya Alyer
Dadabhai Naoroji
Gopala Krishna Gokhale

(2) (b) (©)
1 2 3
2 1 4
2 4 1
4 3 1

b o QO

(d)

[\ IR VLT RN Y

Minimum age for Girl Child Marriage
Eswara Chandra Vidyasagar
Harijan-Newspaper

Aathmiya Sabha

By 1I

oy 1V

1. @bdwnsliles apg6lumn wells
2. @pduraien uis

3. srndullar sirdud G

4. Gsenanen aTMENFnL

1. Grand old man of India

2. Indian Burke

3. Political Guru of Gandhi

4.  Madras Mahajana Sabha
51
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153. Spseahn_ eunsdlubieemens seue |
aapm (A) © 1806-6 Gougmflellmpbe @S Auumiiser saadgser rH UL L e,

sramd (R)  :© Qpdwurene cuenflsd gupellen <y’ AL uiquilelmbs el Ggena Qup ereusuCy
Saufigeflen CEraswrEL.

Qospger sflwnareupeon Corp0s P s

(&) (A) wpgb (R) Greim@ib sf. Cogyid (R) ererigy (A)-ai s sAwiman oflardein
B) (A womb (R) @ramib afl. Gugnb (R) arérusg) (A)-edih @ sflumen ol erssinda
() (&) sl yenmed (R) geug

D) (A) peumy. pemed (R) o

Consider the foilowing statements :
Assertion (A) : In Vellore the native Sepoys rose in revolt in 1806

Reason (R) : They wanted India free from the rule of East India Company.

Now select your answer accarding to the coding scheme given below :

(A) Both {A) and (R) are true and (R) is the correct explanation of (A)
(B) Both (A) and (R) are true but (R} is not the correct explanation of (4)
{[ﬁ’:)f (A) is true, but (R) is false

(D) (A)is false, but (R) is true

1564. Bpsaasupbe erg sflwnsl Qurmpbasdng ?

(A ysdw senn - Feuml sLTeThs #reveud
(B) eumismen apsed eumy @IS - gpwnigg Cyaras

(C)  femb sutisner GuissLD - ellguimsnan

(D) Quniggsemen somgmid - QLGLOMETD Lmesr (R

Which one of the following is correctly matched?
(A) Atmiya Sabha - Swami Dayananda Saraswathi
(B) First Bengali Weekly - Satyartha Prakash

(CY Young Bengal Movement Vidya Sagar

M' Prarthana Samaj - Atmaram Pandurang
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155.

156.

yremt &ahEyd HepL d@ b cweny Jal meais Gagzang eenm yrest agbdiih o fs Garib,
& soameli_t.Tee (.Ja'ls'r_z:n*'-.;ll RETT- T (:_.th‘r; patailly e:l;ﬂ@ﬁ') ‘I_'r;rTn.';;\I flenmeusno i wrl (G g -.:.:?.::;.; i WLl Gk T
(A)  surey spErBGunen (B) eonpdl

(C) meugnievne Cmm (D)  aftsnieudbaumi LGL &

I am not going to be satisfied with anything short of complete freedom we shall do or die we
shall either free India or die in the attempt. Who among the following gave the speech?

(A) Subash Chandra Bose W Gandhiji

(O)  Jawaharlal Neluu (D) Sardar Vallabhai Patel

SpdaeinCeunmiet b enddlwd aflure G uimmhseliavena T

(A) 1857 @Al Qupussusnd Qb womo (peuesn AflefeensE @CE CFams

(B) @pdu 8 Apsdlpdu eeniles el dimhg N gestilar Gy <l 8 s 1panss
b

(C)  snadllm iy apged genwenn gpenBrTs Hlullssu_ o

(DY Guryydllen blsans @hdw waseflan ‘Guser Tl ereny a@pssluBdng.

Consider the statement, which of the following statement is not corvectly matched.
W) The revolt of 1857 led to the division between the Hindus and Muslims

(B) Indian administration transferred from East India Company to the Crown by Queen’s
Proclamation.

(Cy  Lord Canning was the Governor General of India.
(1)  Queen’s proclamation was called the Magna Carta of the Indian People.

. Sipsenn . cur SElunisener euef ©

gafm (A) D oBenai £.ap. 260-6 sedmat GUT apig ST LSS DESEIEE DIDIGITH.

sigennn (RY 0 wedrr 200l @ Qoldl gponn seliime Cunfr apyha 21 ain. aron sfists
2iGsn1001 LES OEEEIEE wdlanT.

(A)  (A) wpmid (R) gevnmaneneu

I Q) saumy wnmd (R) o)

(O (A) sl oomo (R) seumy

(D) (A) wpnw (R) sflwreienas

Consider the following stalements :

Assertion (A) ©  Asoka was converted to Buddhism immediately after Kalinga War in
260 B.C.
Reason (R) :  Bhabra inscription clearly states that Asoka was converted to Budhism two
and half years after the Kalinga War,
(A} Both (A) and (R) are false @Ba’j(}\) 1s false and (R) is true
(Cy (A 1s true and (R) 1s false () Both (A) and (R) are true
53 SKET2
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158. gflwne dfiepamws Dofley Gewwayo.
Hadaieow erfl@ummerte LwueauGiggd Wehdlaewtisaismbe GeuallGumpb aumy

(A) sHss—aL_—ysmeu( (B)  emramen <y semen(d

(C)  sniuen GuorGarmseman(h (D) srtua-eL—sydenen(d

Choose the correct answer :
The gas comes from power plants that use Coal as their fuel.
44  Sulphur-di-oxide (B) Nitrogen oxide

(C) Carbon monoxide (D)  Carbon-di-oxide

159, ueauwpd Agrii Gilss sfluner eurdgdlugears GCorpsBHssa b
L 2afCaGu Bialbufiu ueupsbsn i eean UANS GuERs ) mwhETeTE).
I @& asdlGraluneilér sLhsapsH 0UTdh 2 arang.
I @ s Gamy wmes.
IV, edursella frolrsd ganun Gurg Qeuatlufia Ggflub.
(A) I-wIll-wed B T-bIl-keh

(©) I i@ &4 (D) siwaggn s

Choose the correct statements about coral reefs :

1. The World’s largest coral structure is situated in the Pacific Ocean.
IL. It is off the coast of Australia.

ITI. Itis Fringing reef.

IV. They get exposed as the water in the lagoon goes down.

(&) Iand Il are correct 1'._EPB‘)"' { and Il are correct

(Cy 1III alone correct (D) All are correct
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160. sftpmriige QuiGrre S sssmigus om suigHlend erg ?

161,

(A)  aeuans cugHlaod (B)  arGeauf sugBetd
(€ Gudurg g Hlen (D) smbgopenf cug Heow

In Tamilnadu which one of the {ollowing river basins has petroleum reserves

(A} Vaigai Basin vﬂ;;; Cauvery Basin
(C) Periyar Basin (D) Tamiraparani Basin

vciguwe [ g ol g IT e édr Qurmad G danasiiu Garen gluiRaenes Qe eflwmes
shisnLenwg Caitls (.

U aguag (R]NRPRINE §
(a) @BCsrCaraghum 1 LTenagTen
(b) Ay bwsalsGan 2. uramgé
(@ amad 3. syrenCun
(d)y Berr 4 ARG AL

(a) (b) (¢} (d)

(A) 2 4 1 3
@& 3 4 2 1
<) 2 3 1 4
(D) 4 2 3 1

Match List T with List II correctly and select your answer by using the codes given below :

List 1 List [T

(a) Indonesia 1. Tangshan
(by New Mexico 2. Pontic
{¢) Turkey 3. Krakatau
() China 4. Ric Grande

(a) (b) (c) (d)
(A) 2 4 1 3
(B) 3 4 2 1
(©) 2 3 1 4
) 4 2 3 1
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162, Sipsmain_ euradiufugenen aliguf

go {A) - Muenelss b siEduinang), Lemaun b Semowinerg”
anpenis (R) D wenialdan 5 sTCauriaamern rdlE@E Lesmeum b Gasmauileieon glamm1_gHlhiaE
aUleU @G0,

@eupmier aray 4 sen Gt onefissayh ;

(A) (A womd (R) @rawhid aM. Gweyid (R) sramugy (Aefbe sflwrar efiarge

(B (A wngee (R) Gye 510 efl. penmes (R) aremugy (A)allie sfu e allorémode
() (A) &l zpemma (R) soum

(D) (A) soumy peney (R) &l

Consider the {ollowing statements :
Assertion (A) ¢ “Inflation is unjust and deflation is inexpedient”
Reason (R) . Inflation affects the common man and deflation results in unemployment
Now select your answer according to the coding schemes given helow.
Q’le Both (A) and (R) are true, and (R} is the correct explanation of (A)
(I3) PBoth {A) and (R) are true, and (R) is not the corvect explanation of (A)
(Y (A is true but (R) is false

(M (A) 1s [alse but (R) is true

163, wadh: 2iys Birewrllsgener camdlus cildlgsensatii_ gnHaems ollhm b wrblehad
(A) Gagembd, shpnish, gBlippi(H (B) Sann, gflawr, menrmg

(C)  waogml g )b, NEGURLD, FTigEnETT (D)  wepemy, anfiwrer, ingdle agGasd

Which of the following sets of states gives more than ‘Minimum wage rate’ fixed by the
Central Govt.?

(A) XKerala, Karnataka, Tamilnadu (B) PBihar. Orissa, Gujarat

(C) Maharashtra, Assam, Chétisgarh @f Punjab, Harvana, Madhya Pradesh
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164. Spsremusumiied

165.

r

I. Qungperi gy sxpdasn Awfl b Gellgemea s Huu(ss S ng
I egduraidlu greepedt Hingy ggeopuSb w’ (Hib
[TI.  GeeneuGu Qurgissann ennldlen Crresn

V. Giungiggienm amolic s Hungleuns ereueils Gl iy LMETISGHD Biavsna

erg) seumman eflenL?
(&) Twpge IT seumy (B) IV wl(GGw seum
(C) 1L IV goum (M 1, T seumy

Consider — Following :

I Concentration of the power is checked by public sector

11.  For the wellare of public essential units should be under Govt. contral
III.  Service is main motto of Public Sector

IV,  Public Sector units almost have competitors

Select which is not correct ,
(4 I, I false @Bl 1V alone is false
(Cy ITI, IV false Dy I, TII false

E\psskT_eneugenet Keuet

gamil (A) o anadlseysfen G 2 crer sLeangen, flemeu susidl epeid eratigns Ersslinplennan.
amyess > (R) o flerey eumflwrar eepends  amidladildl o euwmd oay Headld evww

Erengmions, dawson i Sime,.

@eneusaile ety ol

(AY (A wpgw (R) @oss (jub #fl, gyaud (R) wanugy (A)ag fiunes sllarésid e
(B A& R), (A) ag eflwnen eflangsibd ieva

(C)  (Asyd () Goaniid gefgsealGu il (A)swg (R) aanug eflure alanssin

D) (&) R) @remho seum.

Consider following :
Assertion (A) : Intcrdebtedness among Banks are settled through RBI
Reason (R) - RBI, acts as Central Clearing House

Select your answer according to the coding scheme :

(A) Both (A) and (R) are true, and (R) is not the reason for (A)
(B) (A)is true and (R) is not reason for (A)

JET Both (A), and (B) is true and (R) is reason for (A)

(D) Both (A) and (R) are false
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166. Aesreupid Gy saflas ergy @ menawnen Siguilfls Qanded oyde?
(A)  w@psér whHmib Geuby (B)  wresdurd womn DDT
(C)  Geudy opmub eSlensblaaorGiami (D) edavaOssm@ennis LHHD WERFET
Which of the following pair 1s not a natural pesticide?

(A) Turmeric and Neem JET? Malathion and DDT
(C) Neem and Castor 0il (D) Castor Oil and Turmeric

167. Spssrerusupbled g aflunes Qummssiuedldana?

(A) FHuwo 1.  smgaGarsn

By wGraMwib 2 BlenLflenaug gaflow
(C) Guilwb 3. argwewr 2 Gorsd
(D) Haeurt 4. @oLHows s

Which one of the following is not correctly matched :

(A) Caesium 1. Alkalimetal )
,J;,B} Uranium 2. Transition metal

(C) Barium 3. Alkaline earth metal

(D) Silver 4 Transition metal

168. euflans | wogpd wuflens 1 s fweupamn sfuns Qurkriss o msmg dloLsmer Gariasiul_Herer

GhllBamar LwueTLRGHS er(pgE

euflens [ aufleng 11
(@) a&oLum L. Seuly
()  srlurenGul 2. &m@w
(€) @ureu B&amen(y 3. Genugpliy
(d) @uils gsamav 4. fan

(a) (b) (c) ()

(A) 4 1 2 3
(B) 3 4 2 1
(C) 3 4 1 2
(D) 4 3 2 1
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Match List I and 1l correctly and select your answer using the codes given below :

List I List II
(a) Copper 1.  Red
(b) Copper sulphate 2. Black
(¢} Cuprous oxide 3. Reddish brown
(d) Cupric oxide 4.  Blue

(a) (b) (c) (&)

(&) 4 1 2 3
(B) 3 4 2 i
w3 a 1 2
(D) 4 3 2 1

169. @hmeurefsdt Qumd Guseueans QWiKrsdd @isen apad LD erhiEsuBEng. Bsmean MG,
(A) EEG (B) ECG
(Cy  uredldigmi (DY  Lodiend

The machine that picture lie detection in investigating criminals is
(A) EEG (B) ECG
wiC)  Poly graph (D) Doppler

170. sfhwren ellent e Gafey Gel.
&6 Upeng o amsdGh CLTupgs g unhgy Aevdng. 2Cs erey Hiasenu CH amayeTer Heney
2 M&H@GD Gun(pg &0 pamblaema glenaiic
(&) daawb Heapaws sTihsg (B) fewwbd flevpanwd sTMHES B0
(C)  Havewod Herpsm arlisssdie e dragi (D) wevpeurar Hevmsie Pavaos oiflsib

Pick out the correct one

If we kick a foot ball it flies away but kick a stone of size with equal force it doesn't. Because
-~ .

(& Inertia depends on mass

(B) Inertia doesn't depend on mass

(C) Inertia is inversely proportional to mass

(D) Inertia is larger for small mass
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171, eflwmen eflenanuss Cmibls .
oo gaergdie 60° snleuns oflavs gemy Gewauddpng. Saedwellar Faggas s
40 kg wt srefla Geiigszs = flamen sansdhia.

(A) 40 kg wt (BY 89.28 kg wi
(C)  6.928 kg wt (D) 9928 kg wt

Choose correct answer.

A force is inclined at 60° to the horizontal. If the horizontal component of force 1s 40 kg wt.
Calculate vertical component.

(A) 40 kg wt WP 69.28 ke wt
(C) 6.928 kg wt (D) 992.8 kg wt

172. TELNET ardlé Canena Qabdlng,?
(A) server-server (B)Y client-server

(C) client-chent (I server-client

TELNET operates on
(A) server-server \B{, client-server

(C)  client-client (DY server-client

173, WWW g L (grennésmsd) wn(meaL wg;?
(A) T.M. Gurenevedl . (B) EF sr’
(T} afem_L gn Ham’ (DY  J.CR. Nad

The_ WWW is the brainchild of
M) T .M. Bernerslee . (By E.F. Codd
(C) Vinton Cerf (DY J.C.R. Lacklicder

174. FTP (File Transfer Protocol) ey gpeapudes Geuemen Gebiflng ?
(A) Client/Client g fgyeuid (B) Business/Business 445ab

(C) Peer/Peer gggeud (D) Client/Server sggeuld

File Transfer Protocol works on the
(A) Clent/Client principle {B) DBusiness/Business principle
(C} Peer/Peer principle \-ﬁ‘;}] Client/Server principle
SET2 60 B



175. ergpenan spalis wremeuiser Geuduluene afmbueidiamen?

176.

LML b
&g
GwiinSlued
GeudluShuicn
2 uiflufuwidy

senflaflud s

(A 32

()

41

LOT&RT U (T &6
6
12
15

By 35
D) 42

How many students does not like chemistry?

Subject

Mathematics
Physics
Chemistry
Biology

Computer Science

@) 32
©) 41
CD -énfeardy
D

6

B C
@) 6
© 12

The length of CD is

(A)
(C)

6 B C
12

No. of students

6
12
15
8
9
Wi 35
(D) 42
B) 9
D), 8
i) 9
D) 8
51
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Sipdameii_ oapmaailey sra eflwne Qurmbuydmeng?

. menana - &fSmomppeafleud
IL. G]g,rrs’m‘ ey edleTés - L GuemTihE

I eSpGanflunbd - Usgiadlren
IV. QRQadser aledmi - sulreesflwr
A) I : By I
(¢ III Dy IV

Which one of the following is correctly matched?

I. Nannool - Veerama Munivar
I[I.  Thonnool Velakkam - Bavananthi

III. Veerasozhivam - Bhuthamethran
IV. Elakkanavelakkam - Subbramaniyar
@ 1 (B) 1II
O\ 101 D) IV

178. Spasem ppenp Glemaeien erg/eranau silwunenencu?

(=1} eumeRTL 62( CFTHIIS HreuyD

(=) @dé Haroe Ha o areng)

(@) s %@é1(3mn6iu@ufrm STEUNLD

A) (o). (<) - of, (@) - seuny |
(B) (&) E@) &, { eefo) Heum)

€ (=) (@) - & (=) - paum

(D) (éﬂ) (=) (@)~ &fﬂ

Which isfare correct out of the below statements?

(a) Vandais an Epiphyte

(b) It has Velamen tissue

(¢) Itis an angiosperm plant

(A) (a), (b) correct, {c) wrong (B)_ (a), (o) correct (b) wrong
(C) (b, () correct (a) wrong A All are correct

179. Gunmdge

(a)  Quomuilue 1.  Archaelogy
(b) uLeaLTR 2. Linguistics
{c) wrall_&fliud 3.  Anthropology
(d) Qareéallwie 4.  Culture

(a) (b) (€) (d)
(A) 2 4 3 1
(B) 2 3 1 4
(©) 4 3 2 1
(D} 1 3 4 2
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Match the following |

(a) Mozhieyal 1. Archaelogy
(b) Panpadu 2. Linguistics
{©) Manidaveyal 3. Anthropalogy

(d) Thollieyal 4. Culture

(a) (%) (c) d)

w72 4 3 1
(B) 9 3 1 4
(©) 4 3 2 ]
(D) 1 3 4 2
180. Gummpsss
(2)  ellards Somfutlic 1. Comparative linguistics
() eurerDm Gl 2. Historical linguistics
(£} eptugemio GlioaSuiluid 3. Transformational Grammar
(d) orhiladsar Qi fluiling 4. Descriptive linguistics

CORE () () (d)

w2 3 4 1
® 1 3 2 1
© 3 4 2 1
B4 9 1 3

Match the following :

(a) Velakka Mozhieyal 1. Comparative linguistics
(b  Varalartru Mozhieyal 2. Historical linguistics
¢y Oppumai Mozhieval 3.  Transformational Grammar
(d) Martrilakkana Mozhicyal 4. Descriptive linguistics
() (b) (c) (d)
(A) 2 3 1 1
(13) 1 3 2 4
(C) 3 4 2 1
(D) | 2 1 3
B 63 SFT2
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181. snmdléven seuns e uGi&EheE THSHESTLH wreneu?
O (A) unswefwr, mevl B)  uwrsefur, ushsreumbd

(C) el Lchame (D) uvapgTaupD, FEEL

Of the following which are anaerobes?
4 . .
JKT)' bactena, yeast (BY bacteria, green plants

(C) vyeast, fungi (D} green plants, ycast

182. eremllam afleneu sHH penhd Corsen saayuiss sarhidy ss unseilun
(A) CGuélveen (B) &GLrGunanmsh

(C)  evp_GurnGemnmremai (D)  evl QruGLrsrésen

The bacterium discovered by Anand Mchan Chakrabarthi to degrade oil spills
(A) Bacillus \LB) Pseudomonas

(C) Nitrosomonas (D) Streptococcus

183. o.en eli(h b Cosamisaiier Aarassamer Hfiss Qgallssiu@in LFsdarid org?
(A) BHC (By DEET
(Cy TNT (D) TNP

Which one of the insect repellant is used to destroy mosquitoes in your house water storage?
(A BHC J DEET
(Cy TNT (D) TNP

184. gratlsl 2 hyeghane @ussawdiien oif erg?
(A) By Lar g e (B) By Len @rammn 94
(C) Byl L en ppsaprh edld) (D) pged-gmibaan el
The motion of rocket is according to which law?

(A) Newton first law (B) Newton second law
jj{“‘n Newton third law (D) Joule-Thomson law
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185.

186.

Wgwes l-m uCquwe [l o dn Qurmsdl, Gy Qen@sasiu’ Heren @dluSQeenerd Glamsr (R flwirear
shlen_enwg Cambols(H.
U g6 I L gusew IT
(@) oermsssles feymeEnsE Bam_Guw 1. Fups sguuen  uQeoran o eTEsD
garyn ublihg seflssiuc (Harers
(b)  @daryd oreThsEnaE Heo  Gul 2. =slary sl HEsameaey
veBlamasaia UdTBg sefiesiu e
©  sfergo uaGaum sups YfleysErss 3. sl é sirenmisid
LB SefssuL(DéTers)
(1) dergd Qe LHDID HSDES 4. HLLG& S0 (LPEOD BITETEIELD
Guhul L Hrflud sl dsefl b Lk
Seflasiul_(Herarg,

(2) (b) () (d)

(A) 4 1 2 3
(B) 2 3 4 1
(C) 2 4 1 3
D) 3 4 1 2

Match List I (forms of power sharing) with List II (form of Govt.) and select the correct answer
using the codes given below in the lists.

List I List II
(a) Power shared among different organs of Govt. 1. Community Government
(b) Power shared among Governments at different levels 2. Separation of powers
(¢) Power shared by different social groups 3. Coahtion Government
{d) Power shared by two or more political parties 4. Federal Government

(2) (b) (c) (d)

B R QI e
—_ = bk B2

| Qe e b

EnAw yfweannuGier et meug il Leusnenufies GHUG LUl Rerer @oSw QuomPeatian
crom st Sens wimenan ?

(A) 114 (B> 22

(€) 46 Dy 48

How many language in India are included in the Eighth schedule of Indian constitution?
(A) 114 @B 92
(C) 46 (D) 48
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187. Qar@eslul (Heren miilsenan usgu (a8 Corimsswonen efleant enwr armblai

AL ib Sfley
(a) MDM 1. &y 1ym s&ETSTID
) SSA 2. QeLfows shel
{c) RMSA 3. w2 aarey
(d} NRHM 4. rbusd sdwel

(A) 3 4 2 ]
(B) 2 1 4 3
(C) 4 2 3 1
(I 1 4 2 3

Match List I with List I and select the corvect answer using code given below.

Scheme (List 1) Sector (List 1)
{(a) MDM L Lural health
{b) S5A 2. Secondary education !
(¢) RMSA 3. Mid-day meal |
{(d) NRHM 4, Elementary edueation |

PICY (b) (e} (d) |
|

&) 3 4 2 1
(R 2 1 4 3
(€ 4 2 3 1
‘D) 1 4 2 3

188, saflurensafies ensuren erarug)
(A)  satlunsnaefien sflouy @uinusrg unensaT GG
(B senfliimeper mevpun HAny L s sar
(C)  Fauflenpd b ChosQumgsl s 1

(D) sedluranseticn euen@umpener Dewid Qlipss Galub ganeioigenw Querbummeasar

In computer the term “virus” 1y associated with
(A) Malfunctioning components in a computer
(B) Small insects entering into a computers
(Eﬂ Malicious programs

(D) Programs which will normally affect the hardware components in a computer
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189. © engen CLnAL srpaudr Gsm_fyem_weur

(A) e wpb srem(Hge (B) Berb gnawHsea

C) el ugsub (D) @sfl omanidl giredr(hga
Usain Bolt 1s associated with

(A)  high jump (B) longjump

7 running race (D} polewalt

190. saflo suiflens o L suamertailes Ldlgras Comsaliul (Hemen Siam eren 112 UarearL saftiwd
(A) CerluQrendluin (B) Crraim  Gspafluib
() Quui weeflfluib (D) Gunrflww

The newly added element with atomic number 112 in the periodic table is
_ copernicium (B) roentgenium
(C)  meitnerium (D) bohrium

191. Qummggs :

(2)  shdrmwes | 1. e Corssua ougrisd
(b)  asaven 1 2. apafleeomos hese s e’ 1 g)
(&) s apisfser [11 3. eflarfeuall @prdisddiern euerrss
dy @rdu fameaaf ey 4.  wa&Garm_gren
(a) (b) (c) (d)
Ay 2 1 4 3
(B) 1 2 3 4
(C) 3 4 2 1
(D} 4 1 2 3
Match the following -
{a] Chandrayanl 1. Metallurgical observation/Research
{by Kalpanal 2. Unmanned moon mission
(¢} Accelerators T11 3.  Development of space science
(d) Indian Space Programme 4.  Cyclotron
() (b} (©) (d)

w2 1 4 3
(B) 1 2 3 4
() 3 4 2 1
(D) 1 1 2 3
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192, sflunen demeniss CoABE SR
SrremulenL, emeunwrs wiHns Gomeuurang
(A) 3000°C QauuBlena wpmid 1,00.000 atm eualleipssn sefingar apaw
(B) 300°C Qaumleney wimin 1 atm cueafloipsso siefliiugen qpealb
(C) 100°C GeuCiufiena o Hi sipssd Gaamaiddana
D) eiwssd wiHid efluuge epan

Pick the correct answer.

Graphite can be converted into diamond by applying.

Of}ﬂ temperature 3000°C and pressure 1,00,000 atm

(B) temperature 300°C and 1 atmospheric pressure (atm)
(C) temperature 100°C and no pressure

(D) applying pressure alone

193. wrbwadies Cergamansans HEswrsl LwsURESLILHL Ues 2 Kiflger
(A) Qsrm, SLG m whmb eI erell
(B) uwlisd), e Gamallurglefund whmibd Qeustemar erell

(C)  gpwe, Crell B whHmd eneugaugar

(D) eveugeveer, rev_(HaeT wHmb i 1
!
|

Organisms which are widely used for experiments in geneties are
(A) Mosquito, House fly and House rat \QT} Fruit fly, E.Coli and White rat
{C) Rabbit, Dolly Sheet and Viruses (D) Viruses, Yeasts and House fly !

194. aneupai erdimiy) Qe Qum@eafiana semH Gy Gseybd

(A) Guwa&srGu (B) =G
(C) mweur M) a9
r
Identify the name associated with antivirus products
WA McCaffe (B) Adobe
(C) Java (D) Epic A

195. seupna QurmSSULIL LS CHTHESH.
A)  ©flu Brmred e pusdl sepwly — Gafmiy
(B) 2.u9f eumuy yhmed seve ~ Wlane HUSS 2 (Heurss
(C)  Eomdme — wepadgGsed
(D) &M 2hosd - LELASS Buerns abpd gpeb
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196.

197.

198.

Pick out which is not correctly matched :

(A) Solar steam generating system — Air conditioning
(B) Biogas power plant — To provide electricity

(C}  Hydropower — Hilly areas

\'-Hj ! Solar energy — Non renewable sources of energy

HepQuDHD sraLbg ot wlar oG T GBS B g6 Gy Losen?

(A) 8Grda ) (B)  ondydngem

() @ssnad D) @uieorkg

The nationality of the famous football player Diego — Maradona is

{A) Brazil .&Bﬁl 1 Argentina

(C)  ltaly (D) England

wedrL(penaud Qara () suwrflsEUu@EL WL o T

(&)  sreurs sfleyseT wI Geumss sl Qawding

(B) smeuns sflayser wl @euwns Ceauslubhsadns

€) Besds tars Cssd @wss o gadlns)

(D) Gonriser eupeuanss sHEADS

Vermi compost prepared by using earthworms

(A) inhibits the decomposition of plant waste

Qﬁ'ﬂ speeds up the process of decomposition of plant waste

(C) enhances the water holding capacity of the soil

(D) prevents the diseases

“Le SemebL” srgnyid Qe eTgani e CHEmL_TLenL g ?

(&)  aprsd (B) eosupg

(C)  yeleusdl QL arafan D) sraupg

The term “Double fault” is associated with

(A) Hockey (B) Handball
\44{}.1 Lawn tennis (I} Football
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199, @Gugr e
4) Al b Gwmyd

(C) Quss @iy

QOpera 15
(A) a programming language

(C) an operating system

200. Qurmpsss:
(@)  pasmen el
(b} Gsmble> sufl
© Coaes aufl

(d)  wAILE g Geufl

(a} (b) (c)
@ 2 4 3
® 3 2 4
© 2 4 1
D 4 2 3

Match the following -
(a} Qctrol

(b) Professional tax
(¢) Service tax

{(d) Value Added Tax

@ O  ©
(A) 2 4 3
@ 3 2 4
@l e 4 1
(D) 4 2 3

SFT2

(d)

e -

(d)

(B
(D)

(D

1o

Ll

2 _coef

HarpEaud oartummer

a browser

word processing tool

DT & HUITLLTerr
efwirumdl
AQwai . 2 hugdireni

DHSHISUSEISOD IVIBSET

Tourism cperator
Trader
Cement manufacturer

Medical profession
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